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1. Given the complex numbers iz +−= 31  and 222 iz −= . Find  
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algebraic form.         (3 points) 

 

2. Find all complex solutions of the equation: 0164 24
=++ zz . 

Give your answers in algebraic form.      (4 points) 

 

3. Find the distance of the planes S1: 2022 =−+ zyx  and S2: 1122 =−+ zyx . (3 points) 

 

4. Given the points : A(1;0;-1), B(3,-1,1), C(4,1,0).  

a.) find the equation of their plane; 

b.) find the area of the triangle ABC.       (4 points) 

 

5. Find the limits of the following sequences: 
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.   (4 points) 

 

6. Let )42arccos(2)( −= xxf . Find the domain and range of f. Give the domain and range of 

the inverse funcion. Give the inverse function.     (4 points) 

 

 

7. Find the following limits if they exist: 
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  (4 points) 

 

8. Given the function 43)( 23
+−= xxxf   

a.) Find the equation of the line tangent to the curve at 10 =x . 

b.) Find the points at which the function f(x) in ex. 8. has a tangent line with slope 9. Write the 

equation of these lines. 

 

           (4 points) 

 

 

 

 

         Total:   30 points 

         

 

 

 

 



 

 

 

1.  

2. zárthelyi   Matematika A1 
2005. október 5. 18.15-19.00 

 

1. Adottak a iz +−= 31  és 312 iz −=  komplex számok. Határozza meg  
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 értékét 

algebrai alakban.         (3 pont) 

 

2. Adja meg az alábbi egyenlet összes komplex megoldását: 

 

( )( ) 016100 42
=−+ ziz .    (4 pont) 

 

3. Adott két párhuzamos egyenes: 1
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Határozza meg  a.) síkjuk egyenletét; b.) 1e  és 2e  távolságát; 

c.) 1e -nek 2e -re vonatkozó tükörképét.      (3+4+2 pont) 

4. Határozza meg azt a legkisebb N természetes számot, melyre igaz, hogy minden 

Nn > esetén az 3

1+
=

n

n
an sorozat elemeinek eltérése a sorozat határértékétıl kisebb, mint 

01,0=ε .           (4 pont) 
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